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kg
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&
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kg
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[E35] 7,140

8 IL—D 4 VITEEE 14. 00 510 7,140
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E>¥:0)] mEkE SS400 ¢25 L=2,100 21,510
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11 SHEE 4R HE 5 41.00 4,439 181,999
m2

12 REE AN (EHR) 4.00 10, 024 40, 096
m2
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SEAERE- Y 0) 942, 840

[E35] 9,180
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MEIER 5,289,823 + 14,552, 360 19,842, 183
HEREZE GDH 4,885,772 + 404, 051 5,289, 823
HBERER (R) 46,442,708 x 10.52% ((5.51% +1.50%) x 1.500) 4,885,772
BSRENER 46,442,708 x 0.87% 404, 051
Hingag 51,732,531 x 28.13% ((22.43% +1.01%) x 1.200) 14,552, 360
IER(E 46,442,708 + 19,842,183 66, 284, 891
—REEES 66,284,891 x 16.56% (16.56% x 1.00) — 8, 181 10, 968, 596
LHIRTE 66, 284,891 x 0.04% 26,513
T &l 66,284,891 + 10,968,596 + 26,513 77, 280, 000
HBETEMALE 77,280,000 x 10.00% 7,728,000
EEIZE 77,280,000 + 7,728,000 85, 008, 000
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ZN 1.00 1,590. 00 1,590
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B 0.10 42, 400. 00 4,240 8H
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